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PART A: Voceabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet,

1-  Living closc to a lake means we have an ———-----— supply of water.
1) inherent 2) abundant 3) inconsisient 4) cclectic

2-  The advertisement for the weight loss pills is very -———-—--——- since studies have shown
they’re ineffective.
1) persistent 2) imterminable 3) sensitive 4) misleading

3-  The twins hated to be apart, so they bought houses in close --------—-- to each other.
1) pertinence 2) proximity 3) acquaintance 4) scrutiny

4-  With few new jobs created, the economy has remained ---------— for the past five years.
1) conservative 2) unteasible 3) stagnant 4) impassive

5-  Two days after the flood, fortunately the seawater finally began to ------—-—--- from our
house.
1) recede 2) secede 3) proceed 4) intercede

6- The business used only to make bicyeles, but they’ve now ----—---—--- a range of other
eveling products.
1) diversified into  2) emerged from 3) reverted to 4) stemmed from

7-  The audience clearly loved the play—the -—---—---- was deafening. So it’s not surprising
that it got glowing reviews.
1) merit 2) rivalry 3) applause 4) benediction

8- Experienced Iditarod runners tried to --------—-- Gary Paulsen from competing in the

grueling Alaska race, but they were not successful. The writer and his team of sled dogs
nearly perished during the race.
1) elicit 2) derive 3) snatch 4) dissuade

9-  The Kalapalo Indians, who live on the savannas of central Brazil, have little --------—-- to
change their leisurely lifestyle. They work just several hours a week to provide food,
their only need.
1) disinterest 2) impetus 3) impact 4) rigidity

10- - by the rude behavior of the clerk, Ms. Caine reported him to the manager. She
believes that customers deserve courteous treatment, even when returning merchandise.
1) Withdrawn 2) Arisen 3) Restricted 4 Incensed
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4} best fits each
space. Then mark the answer an your answer sheet.

While clephants are oflen one ol a #00°s lop atiractions, a new report charges that their
level of care often falls short of star treatment. In a study (11) ---------- this week. the
UK’s Royal Society for the Protection of Cruelty to Animals (RSPCA) said elephants
in European zoos are often unhealthy, (12) ---------- considerable stress, and have a
much shorter life than their counterparts in the wild. 'T'heir condition is frequently even
worse than (13} ----—----—- in Asian timber camps. alleges the RSPCA, (14) ------—--- is
calling for wide-ranging changes in the way (15) -====---- . In the meantime, the group
says, European zoos should stop importing and breeding elephants.

11- 1) rcleased 2) was rcleased 3) 1l is released 4) that rcleascs
12- 1) 1o endure 2) they endure 3) by enduring 4) endure
13- 1) clephants 2) ¢lephants do 3) that of ¢clephants  4) for ¢lephants
14- 1)it 2) which 3) that 4) that it
15- 1) 7zoo elephants are treated 2) in 7oos are treated elephants

3) elephants are treated by in zoo 4) that elephants being treated in zo0s

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by cloosing the hest
choice (1), (2), (3}, or (4). Then mark the correct choice on your answer sheet.

PASSAGE I

Flannel is a soll woven [abric, of various linencss. Flannel was originally made from
carded wool or worsted varn. but is now often made from either wool, cotton, or
synthetic fiber. Vegetable flannel is made from Scots pine fibre. llannel may be
brushed to create extra softness or remain unbrushed. Brushing is a mechanical
process wherein a fine metal brush rubs the fabric to raise fine fibres from the loosely
spun varns to form a nap on one or both sides. If the flannel is not napped. it gains its
softness through the loosely spun varn in its woven form. Flannel is commonly used to
make tartan clothing. blankets, bed sheets, and sleepwear. Flannelette typically refers
to a napped cotton fabric imitating the texture of flannel. The weft is generally coarser
than the warp. The flannel-like appearance is created by creating a nap from the weft;
scratching it and raising it up. Flannelette can either have long or short nap, and can be
napped on one or two sides. It comes in many colours, both solid and patierned: baby
[lanncl is a lightweight labric used lor childrenswear; cotlon [annel or Canton [anncl
15 a cotton labric napped on one side or two sides; Ceylon anncl was a name for a
wool and cotton mixture; diaper (lannel is a stout collon labric napped on both sides,
and used for making cloth diapers; an vegetable flannel, invented by [.éopold Lairitz in
Germany in the 1800s, uses fibres from the Scots pine rather than wool. I'lannel.
flannelette, and cotton flannel can be woven in either a twill weave or plain weave.
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The weave is ofien hidden by napping on onc or both sides. Afler weaving, it is
napped once, then bleached, dyed, or otherwise treated, and then napped a sccond
time.

16- The passage points to the fact that cloth diaper -—------—---- i

1) must be clean but left unbrushed 2) is made of a stout cotton fabric
3) was first developed in Germany 4) has very long horizontal wefts
17- We may understand from the passage that --—---—-————- :

1) flannelette is a twill weave kind of flannel
2) Ceylon flannel is often made only of wool
3) flannel 1s, in fact, cheap napped cotton fabric
4y worsled yarn [lannel is no longer common

18- Tt is stated in the passage that cotton flannel -—----—--—-,
1) can be woven in plain weave 2) uscs straight fibres [rom wool
3)is covered by thick worsted yvarn 4} is the same as Vegetable (anncl
19-  All of the following about ‘flannclette’ are correct cxeept that it -———-——-——-- .
1) has a warp sofier than the well 2) can be napped on two sides
3) is often only available in gray 4) copies the texture ot flannel
20- The word ‘tartan’ in the passage {underlined) best refers to a cloth -—--——-----—-,
1) ‘color™ 2) *application’ 3) ‘pattern’ 4y “‘material’
PASSAGE 2:

Vat dveing is a process that refers to dyeing that takes place in a bucket or vat. The
original vat dve is indigo, once obtained from plants but now produced synthetically.
Although almost all dveing can be done in a vat, the term vat dyve is used to describe a
chemical class ol dyes that are applicd to cellulosic [ibre {i.c.. cotlon) using a redox
reaction. Because ol the use ol caustic soda, and the very high pH ol the dye bath in
the dyeing process, wool cannot be dyed vsing vat dyestulls. This is because wool 1s
soluble in caustic soda solutions. Vat dycs characteristically require a reducing
agent (o solubilize them. The most common reducing agent is sodium dithionite, which
converts the dye to its ‘leuco’ form that is soluble. Once attached to the fabric, the
leuco dye is then oxidized to the insoluble state which is intensely colored. T'he vat
dves have high color fastness, which is uncommon in other dye classes. On the other
hand. vat dyes tend to have poor rubbing fastness, but this can be miticated with
special treatments to the fabric. Indigo is subject to major crocking {i.e.. rubbing the
dve off onto other items} unless it is applied carefully. This means that dipping many
times in a weaker dyebath is more preferred than to dip once in a stronger dvebath.
Inkodye is a type of vat dve that uses light rather than oxvgen to ‘fix’ the dve, with a
wide variety of possible effects. These dves, which are chemically similar to vat dves,
are developed by light instead of being applied in an oxygen-free bath and being
developed in the [abric by cxposure 0 oxygen. Inkodyes are true dyes, not [abric
paints.
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21-

22-

24-

25-

26-

It is stated in the passage that leuco dye i8 ———-———--—-—- 4
1) oxidized afier it is attached 1o the labric

2) mixed with vat dycs to develop indigo dyes

3) obtained both from plants and synthetically

4) the result of a redox reaction in cellulosic tibres

The passage points to the fact that wool cannot stay stable in -------—---- .

1) caustic soda solutions 2) sodium dithionite

3) synthetic vat dyestufts 4) large dve baths

According to the passage, vat dyves are ---——-—-—-—---- ;

1) derived trom low-pH materials 2) dipped only in weak dvebaths
3) chemically similar to inkodye 4y usuvally produced by crocking
We may understand from the passage that vat dyes --—--——--—--—-,

1) used to takes place in a small-sized bucket or vat

2) arc truc dyes il applicd to strong [abric paints

3) combine light and oxygen Lo produce color

4) have the highest color lastiness ol all dyces

The word ‘mitigate’ in the passage (underlined) is closest to —--cecaeeee—,

1) “oceur’ 2) *‘reduce’ 3) fincreased” 4) “devclop’

PASSAGE 3:

A kaftan or caftan is a variant of the robe or tunic, and has been worn in a number of
cultures around the world for thousands of vears and is of Asiatic origin. [n Russian
usage, kaftan instead refers to a stvle of men's long suit with tight sleeves. Used by many
Middle Eastern (ME) ethnic groups. the kaftan is ancient Mesopotamian {(modern
day Iraq) in origin. It may be made of wool, cashmere, silk. or cotton, and may be worn
with a sash. Styles, uses, and names for the kaftan vary from culture to culture. The kaftan
is olicn worn as a coat or as an overdress, usually having long sleeves and reaching to the
ankles. In regions with a warm climate, il is wom as a light-weight, loose-iilling garment.
In some culivres, the kaltan has scrved as a symbol of rovalty. Decoration on the garment,
mcluding colours, patterns, ribbons, and buttons, indicated the rank of the person who
worg it. From the 14th century through the 17th century, textiles with large paticrns were
used. By the late 16th and early 17th centuries, decorative patterns on the fabrics had
become smaller and brighter. By the second half of the 17th century, the most precious
kaftans were those with “vollu™: vertical stripes with varying embroidery and small
patterns  the so-called “Selimiye” fabrics. Most kaftan fabrics manufactured in Turkey
were made inlstanbul and Bursa, but some came from as far away
as Venice, Genoa. Iran, India. and even China. Kaftans were made from velve!, aba.
blirtimctik . canfes. catma | gezi. diba | hatavi. kutnu, kemha, seraser. seren, zerbafl,
and tafta. Favoured colours were indigo blue, kermes red. violet, pismis avva or ‘cooked
quince’, and weld vellow.

We understand from the passage that the kaftan --———--——--——,
1) was not a decorated garment in parts of Europe

2) may refer to any kind of loose-[itting garment

3) was initially developed to protect [rom cold

4) can symbolise the power ol kings / kingdoms
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27-  All of the following about ‘kaftan’ are correct except that it --—--———————- 2
1) is sleeveless in Russia 23 first appearcd in Asia
3) can be cotton or silk 4y originated in Trag
28-  Which of the following about kaftans is not correct, according to the passage?

29-

|y Kaftan fabric centres were in Istanbul and Bursa.

2) Kaftans in kermes red and violet were unpopular.

3) Kaftan fabrics could have made in (GGenoa.

4y Kaftans were made from aba and biirtimeiik.

The passage points to the fact that --—--—--—---- i

1) decorative patterns looked brighter on silk kaftans

2) vertical stripes are called ‘Selimive’ in some cultures

3) kaftans had larger patterns in the 14" ¢. than late 17™ .

4) kaltans were less common than “vollus™ lor some people

The word *sash’ in the passage (underlined) is close to -————--————-- :
1) *shawl’ 2) *belt 3) *shirl’ 4) *hat’
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